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Instructions for the candidates :

1.

o e T =t A @ I )

Candidates are required to give their answers in their own words as far as
practicable.

e ot aferd W o 30 3% quite Fffe @ &

Figures in the nght hand margin indicate full marks.

3 WETT F1 AAYEE G F o 15 @1 fafre woq R mr &

15 minutes of extra time has been allotted to read the questions carefully.

I7 ¥I9A 3 @Uel & fave & @vag-7 09 gua-gi

This question paper is divided into two sections — Section-A and Section-B.
avs- § 48 amgfra qvT & fFd sowe sifrard &1 afc wemat 408 i et
& I A/t & At Wgw 40 I #T & YAIDA BT AW A4E T F
1 3% fuiftd 1 OMR I7T-T3% W Ry M0 7Rt g7 i Fet/Ae A7 97 ] w7/ At

Wi W7 & g@I3eAv / AT W / &% / AT AT BT OMR IA-UHE ¥ W4T
TFT HT H=UT QT RO 3T g
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ns out of which 40 questions are
o

In Section-A there arc 48 objective YPs qu¢3“40 qucsrfons. the first 40 ansu.,-c,,
compulsory. I the candidate answers more than parken the correct circle

, mark.
only will be evaluated. Each question cames 1 .. Do not use whitener ;
given on the OMR answer sheet with bla

ck / blue ball thcr T ncet otherwise the
liquid material / blade / nall etc. on the OMR ans
result will be invalid.

6. wWug-g 5 ararfaw faarT & T § sl &
few 2 3 friifea &1 . of § subjects of Social
In Section-B thcre are Short Answer Type questions

Sclence. Each question carmes 2 marks. s & 53 4
. . ; ' 3 agyl & I 89 €1
sPr i s ey 3 577 (Q.Nos. 18 ) &, sl &7 3 out of which ang
History has § Short Answer Type questions (Q. Nos.

3 questions are to be answered. .
) s ooy & ¥ frat 299 &
i frar 3t 6 &y 3T 5% (Q. Nos. 8 § 13 ¢ fail &l 2 Im
B i

Political Science has 6 Short Answer Type ques
which any 2 questions are to be answered.

arefren i 3y 3dq 98 (O Nos 168 18) £, fred feet 29701 & T é‘? &
Economics has 3 Short Answer Type questions (Q. Nos. 16 to 18) out of which any
2 questions are to be answered _
s 5 8y It 4ET (Q Nos. 21 & 29) & Fr farwl 3wt & I 4 &
Geography has § Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are to be answered.
AT ST ¥ 4 7 309 5 (Q. Nos. 28 # 31) &, frnl fei 297 & Im
g1 &
Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 31) out
of which any 2 questions are to be answered.
g1 Sifafees 8 S ITIG R¥T (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & | FE q74 &
fv 4 s fiifcr &1 sfarm, ot famm, i od yoiier of g @ 0F-0F
7¥T &1 I & &
Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 185, 19,
20, 26, 27). Each question cames 4 marks. One Long Answer Type question each
Jrom History, Political Saence, Economics and Geography is to be answered.

7. [0 @R & sEwifE IvFor 1 39T TR FE

Do not use any type of electronic instrument.

Wﬁﬁggﬂ;ffmm%

tions (Q. Nos. 8 to 13) out of
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WYY - ¥/ SECTION-A
Wﬁq WY1 / Objective Type Questions

YT ¥er 1R 48 7% & ydw oy & ww ww fawww v ov § Pt 7 ow w1
STt aTT §R v wat ey & oMR ¥z T Rifta w1 A 40 WAl o ot AT

40 x 1= 40

Question Nos. 1 1o 48 have four options cach, out of which only one is correct. Mark your

selected option on the OMR shect. Answer any 40 questions. 40x 1 =40

1.

&aﬁww#mqﬂnﬁmﬁaﬂﬂwwmmmﬂﬁmmlﬁ
fer gan 2

A) T (B T

(C) 3w M‘Fﬁqm

After the second great war which organisation in Europe emerged to remove the

economic ill effects ?
(A) SAARC (B) NATO

(C) OPEC (D) European Union

fra &, o R A G e 3 ¥, wER 9% AR 2

(A)  TETE T (B) WA fq

(C) TEEg YT D) ¥\ T

Who said printing is the greatest gift of God ?

(A)  Mahatma Gandhi (B} Martin Luther
(C)  Prophet Muhammad (D) Jesus Christ
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3 v o s € @ = g wnE 7

(B) 17 Ud

@ lem

o 19
y 18w

; ini be a voter in India ?
What is the minimum age t0
(A) 16 ycars B) 17 ycard
(C) 18 years (D) 19 years
s, WA FrE WER F e SoTe & 2
(A) g iR nmda @) Gda i
€ U AR i D) EeE 3N i)
What type of system of government is there in India ?
(A)  Federal and Presidential (B) Federal and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
5. WRA ¥ PR & FENE IARE T4 ¢

(A) qf¥ay dme ._(B'/ YREUS
(C) Hifgem . (D) gﬁmqg
The leading coal producing state in India is
(A)  West Bengal (B) Jharkhand
(C) Odisha (D)  Chhattisgarh

6. YR FI FUN FE-3E IGH I &
(A)  WRAR 7R AR FH (11SCo)
Jp,/aaa’lza:htmﬁ*‘ﬁmscol
€ TR € fad
o) it A A wm w=
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The first iron and steel producing industry is
(A)  Indian Iron and Steel Cﬁmpnny (1SCO)
(B)  Tata lron and Steel Company (TISCO)
(C)  Bokaro Steel City

(D)  Viswesvaraya lron and Stecl Plant

7. w@hm o FahE
A TRE B TE ant ¥
(C) o wmi A (D) agun &

Golden Quadrilateral is related to

(A} Railways (B) Roadways
(C)  Waterways (D)  Airways
8.  TvgH aRdie &
(A} A | (B) aHifETR 4
(€) Hiieerd & D) BEH
Gandak project is in
(Al Bettiah (B)  Valmikinagar
(C)  Motihari (D) Chapra
9. A3 FH-0 & am Aiwaitas ast F FE9 T € 2
(A)  FFFA & W A (B) e ud Freve g
IS SRR AR e D) TR R
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- gystem ?
w ; cratic systc
hich one of the following is not according to the demo

2ir clection
(A)  Equality before law @) Frecand fai

(C)  Responsible ruling system (D) Rule of majority
10. iR # wee R FE

(A TR &) TS R/

(B) it @ R-FHEH FRER W

[W & feraargut wewifimal @

(D) et g o s & fedl &) W |

Success of democracy depends on

(A}  disinterest of citizens

(B} illegal activites of citizens

(C) a;livc participation of the citizens

(D)  sccure the benefits of their caste by the citizens

11. &R & W U HIRom

(A)  HE 8T W A B U=

€ TS T Dy FETEER

Bad cffect of feeling of regionalism is

(A)  Attachment to own rcgionl (B)  National interest
(Cl- National integration (D)  Separationalism
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12 B

W srwiia de (B)  TARKIOMY O
(C) g danm (D) T A Y
Coal is
(A) Non-renewable resource (B] Renecwable resource
(C) Biotic resource (D)  Nonc of these

13. &I &
187 STFAH T (B) WA R
(C) TR A (D) ¥ q R T
Landslidc is
(A)  Natural disaster ‘ (B)] Man induced disaster
(C}  Normal disaster (D) None of these

14. TR @ & HYA 6 9RO §
A  feaeger (B) A
Jor” g D) & | FE T
The result of vibration of ocean bottom is
(A)  Avalanche (B) Cyclone

(C) Tsunami (D}  None of these
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IS, Yel #) "R W gdwun tt{g-lé'{fm-ﬂ VR 2

A @ o @ A
JQ"/ N ALY

The scismic wave reaching the carth’s surface first is

A)  Pwave (B) Swave

(C) Lwave (D) Twave

16. §AOR & Y &
A @R B FEI
(€ wTE R/ Py~ TR

Tsunami is related to

(A}  Land (B) Sea

(C) Sky _ (D)  Nonc of these
17.  EHEE RO IR FA Il T EH-E R 2

W T HE o i Fer 4

() wafwF FiW ¥ wE D) W QA F§ 76

Which institution promotes long term loans ?
(A)  Agncultural lenders

(B) Land Devclopment Bank

(C) Primary Agﬁcullural_Crcdit Society

(D} Nonc of these

[ 111 ] H [5011-H ng
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o e frem wm A s w2
(A e ® fom dx
(€ fen ohw oy

Which is the third sector of Economic development ?

(A)  Agriculture sector (B)  Science sector

(C}  Education sector (D)  Service sector
19. it anfaw =ifa o} fed whxfan fem ma

v FERE @ Pl

) Asftwm o wRawd

What was included in the New Economic Policy ?
(A)  Liberalisation (B) Privatisation

(C)  Globalisation (D)  All of these

20. I ET fowa w0 & fag s e fem e € 2

(A) S50%e B) 70%e
&y 1050 o) R wt

What is the application fee for making a complaint by the consumer ?
(A) Rs. 50 B) Rs.70

(C) Rs. 10 (D) No application fee
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21. maﬁwmmmm#;

; “ 15 o
e
When 1s Consumer Rights Day celebrated 7
{B8) |5th starch

(Al 17th March

(C)  19th Apnl D) 22nd Apn!

22. éhﬁrméi:fr—'ﬁwi.‘;mﬁkg

A T B 7
e g4 1o JIRIE

How many factors constitute globalisation 7

(A}  Onc (B) Two
L_(Qi/ | Five (D) Four

)3 @R-E FE WFER X7

(A) h mﬂ {B] R
&) HiE |/al D) @

Which of the following is a non-government service 7
(A) Police service Bj Finance service

(C)  Mall service ' (D)  Railway service
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R & fadia e few TR ww o )

24
N TR B) feeel
@ e WIS
Which is the financial capital of India ?
(A} Mumbaj (B) Delhi
(€} Patna (D)  Bengaluru
25. 69 T &I fagean =@ ¥
Ay fefEa dfaum B) vifeal & farm
(C)  THEN VI Haw (D) WA QraqIeH
Which is not a characteristic of a lcd-cru] state ?
(A) Written constitution (B)  Power distribution
(C) | Unitary ruling system (D)  Supreme Judiciary
26. §9 WHN T JE ¢
W B °H
c faeA (o) T AT T
The example of federal government is
(A}  America (B) China
(C)  Britain (D)  None of these
y7. o e i g P 4 fert o 2
(A)  HRISH 0 B) i F
©) <y Tiedh pr/ FAQUHNT ARG
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, Complete Revolutigy,
“’hD nmong the following led the Hu:npurn“ I\fﬂn“ ‘ ]b‘

Bihar ?

e Kumar
(A)  Morarji Desai (B)  Niush

(C)  Indira Gandhi (D) Jay prakash Narayan

28, e et A i fem g T R T E 2
(W) T s ® e W e &
@) #m & e zewE ® wera w
() mwaﬁmw%m@mmmk
(D) Wﬂﬁuﬁ@ﬁdﬁsﬁuﬁ@rﬁ%a}amﬁmmrmmmt
On which of the following points did democratic systcm get success ?
(A)  Abolished the political differences
(B)  Abolished the conflicts between the people
(C)  Majority and minority groups arc trcated cqually

(D)  Reduces the economic grade for the poeple standing in the last line

29, T WD 3w (Feie e sume) 7 v featey @ € 2

(A) T HEIW & e B A o & g
() wEnA @t @ & fee oy T F e

For which purpose is remote sensing satellite used ?

(A) For telecommunication (B) For meteorology
(C)  For searching the resources (D)  For television
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0. P8 @ s @ v ddeie b
(A) A (B T

€ & (DY
Which of the following is the most sensitive city to carthquake ?
(A)  Dchradun (B) Ranchi
(C}  Hyderabad (D)  Chennai
3. FedifR oy rasaamt

(A) 9\ B) ¥

oy~ fawm D) feeett
Which of the following is called backward state ?
{A)  Punjab (B) Kecrala
(C) Bihar (D)  Delhi

12, WRA A fadig ad PR FE AL 2
(A) 15t / 31 TR T (B) 19 R 30 9H &
(Cy 130 ¥ 31 O 7% D) 1 fagm @ 31 3T A%
Which of the following is Financial year in India ?
(A) From 1st January to 31st December
(B) From 1st July to 30th June
(C) From lst April to 31st March

(D) From lst September to 31st August
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L ' 3 " 3
) 132 w11 WY frey gt o farar ng iy fpph 1o

(A} Wi () g o AR

) warpial (D) rﬂui’fl

In which post did Victor Emmanucl appoint Count Cavour ?

(A) Army Chief (B) Ambassador in France

(C)  Prime Minister (D) Home Ministcr

34, T ud ol # Hfa @ spremn e fmm o 2

Ay st gy fee
) fawrd o) fafea i

Who sturted the policy of blood and iron ?
(A)  Mazzini (B}  Hitler
(C) Bismarck (D) William1
35, WrIEE EA &1 9E 5 FE §IN o 2
(A} &4 (B) VIYH
© | () ¥
Where was the first experiment of the communist governance started ?

(A) Russia (B) Japan

(C) China (D) Cuba
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ah

37.

38.

39.

Wevfaw wifa w9 gl 2

A w@Y, 1917 B T, 1917

(C) A, 1917 .oy famar, 1905
When did the Bolshevik revolution take place ?

(A}  February, 1917 (B) November, 1917
(C)  April, 1917 | (D)  September, 1905
i i feega ofcdiern v Forem & v § 2

L G | | der

€ TR D) T R

In which district is Kanti Thermal Power Project situated ?

(A) Purnia (B) Siwan

(C) Muzaffarpur (D) East Champaran

& gy S R € ?

A SHET | (B) SPTEYT

c TR (D)

Where is the railway workshop situated ?

(A}  Jamalpur (B) Bhagalpur
(C) Munger (D) Patna
AR 1 9T FRO AL 2
(" R H (B) er & ¥ s
€ UEd | & o) ¥
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40

42,

What 1s the main caune of Tsunami ?

in arca
(A} Earthquake in xea () E.;"ﬂllq!lnkt‘. in pin
(C)  Earthquake on mountain ' (D)  Nonc of these.
HNg ® e )

,W/ w3z ) Fferet AT
(C)  WER 3R o) A 13 T
What is drought ?

(A)  Natural disaster (B) Man-made disaster
(C)  Normal disaster ' (D) None of these

e 3% v i @ e T 8

) @ T G

(C) A TERy JD?/ sth Frar

The main cause of land degradation in Punjab is

(A} Deforestation iB] Intensive cultivation
(€ 6"°’gr”i"ﬂ : (D)  Overirrigation

T AR T ) e &

(A)  55% B  60%

Gy os% (D)  70%

Amount of water present in human body is

A 55% - B 60%

(@ o5% (D)  70%
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43

4.

it el @ et i N e s @ 0

(A Ty @/

(C) e
(D)

W

(A} Crocodile (B)

(C)  Whale (D)

2 3R 1 5 e e &

TR (B)

© T D)

The main raw material of cement industry is

(A)  Limestone (B)
(C)  Granite (D)
R SR S

(A) IS (B)

sy et | D)

&Y

hicl .
 of the following creatures is found only in India ?

Dolphin

Tortoise

g e

Bauxite

Iron ore

TRt

£

Who were the first merchant o arrive Indo-China ?

(A England (B)

(C) Portugal | (D)

French

Dutch .
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a0 wirm som wittaa ww NE g3 7

(A} 1920 ,ﬂ"// 1930

€ 1935 o) 1942

When did the civil disobedience movement atart ?

(A 1920 m 1930
C) 1938 o) 1942
47, TIEE Aw-gEE I0M R
Wy sifem B S A
() T wENH (D) o d
Rourkela iron and steel industry i8 in
(A) Odisha () Jharkand
(C) Madhya Pradesh (D) Wcs.l Bengal
48, Wi 2 @ wE TR @ T e & gt a2 .
) wfrdier s (B) THEE Tgid
€ Fh s (D) TR} T
Which type of attitude emerged in urban system lcaving the fcudal system
behind ?
(A)  Progressive attitude (B)  Aggressive attitude
(C)  Orthodox attitude (D}  Exploitative attitude
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Uy - 4 / SECTION - B

3fagT / History
Y IFAT WY / Short Answer Type Questions
gvq §ET 1 ¥ SWH?mhfrﬁﬁ#ﬁ??'am#d‘m%rmm&rm
Qﬁﬁ!}fﬁa’#f 3X2“6

Question Nos. 1 to 5 are Short Answer Type. Answer any 3 questions. Each question

carmies 2 marks. 3x2=6

e R & e i anfgn @ v w2 2
What was the role of Austria in the unification of Italy and Germany ?

5, ZiEl 4TAT T a1 IIE A1 2 2
What was the objective of Dandi March ?

3 g SRR waH o SR an’ feorl # 2
"Non-coopcration movement was the first mass movement.” Comment.

a. #@ﬁwﬁm@ﬁyﬁﬁﬁﬁmmmm? 2
How did industrialisation influence the livelihood of labourers ?

5. rfm#;’r‘qﬂmﬁaﬁwﬁaﬁhimﬁwﬁl 2

Mention the characteristics of agro-economic activities of villages.

a’ltiaaﬁam |/ Long Answer Type Questions
oy WEET 6 HIT 7ﬁémh#:ﬁﬁ#ﬁrﬁwwmirmma‘rﬁq 4 3F

frrerfeet 1 1x4=4
Question Nos. 6 and 7 are Long Answer Type. Anster any one of them. Each question
1x4=4

carries 4 marks.
6. Rﬁ%@w&ﬁﬁﬂ,wﬁnﬂﬁaﬁﬁﬁmaﬂml 4

State the contributions of Mazzini, Cavour and Garibaldi in the unification of

[taly.
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7 at e sifa qn }  fadaen wt

What is New Economic Policy ? Discuas.

maifa = / Political Scienc®

jons
WY I ¥ / Short Answer Typo Quest e
" o 8#‘3“ﬁ?m%ilnﬁ#ﬁaﬁznﬁ$mifm 2 zﬁw
235% fuifra )

stions. Each question
Question Nos. 8 to 13 are Short Answer Type. Answer any 2 questior

2x2=4
carmies 2 marks.
3 WA 1 frer o0 S SRS A ¥ 2 W B 2
How are the caste based differences prevalent in India ? Explain.
" o e e v 2 2
What is the importance of Power sharing in dc.mocracy ?
10. TR &g oW AReH S TE@FVI AL 2 2
What were the main reasons for the students' movement in Bihar ?
) R i S s v 2
. How do you sce the future of democracy in India ?
y HRHAR T H G 1 FR 2 2

Terrorism is a challenge for democracy. How ?

13, Wl ¥ | SR @ et ik St W o i frooh R 2

Write a short note on the responsibility and objective of democracy in the
coming socicty.

[ 111 | H | 5011-H ug Page 20 of 24




A 3wt H77 / Long Answer Type Questions

g7 FOAT 14 U4 15 310 3w &1 50f & ot oo a7 37 31 ORIE W & R0
4 3% FifeT & Ix4=4
Question Nos. 14 and 15 are Long Answer Type. Answer any one of them. Each question

~ames 4 marks, I x4=4

~

o A TR g @ e @ Pt v fad @ g e} @ A
#nAn fafa o &) ¢

Mention different aspects of life in which in India there is discrimination against

women and they are in weak position.
|5 NS T WA 6 a2 4

How could democracy be successful in India ?

e / Economics

g IA0T WV / Short Answer Type Questions
uyT Gl 168 187% oY Iadta 1 g & Rt 209 & I F 1w weA &
QWﬁRﬁﬁ?#f 2x2+4

Ouestion Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question

carnes 2 marks. 2x2=4
1o, sderae fER F7d € 2 2
o
What is Economy ?
17, ummnﬂﬁ%mﬁ@m"qﬁﬁ| 2
Explain the relationship between Income and Poverty.
2

18/ ATM &1 ¢ ?

L

What is ATM ?
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%t Fafia W / Long Answer Type Questions -
YT e 19 4 :oﬁzﬁvf:nﬁ#&ﬁwmmi;mﬁﬂ*
o 3w Fraifi 1 104=4

. s{ion
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. Each qu¢

[ x4=4
cumes 4 marks.

19.  wEwftn & ngeaqe aea a4 b ?mtfqmﬁmuﬁqumm‘ﬁﬁl 4

, : in
What arc the important clements of co-operation 2 Explain its role

development of a state.

Jo./ feg & g e e e & w9 A fod aw o e ¥ 7 o wfea fed | 4

Explain with example how India is known as scrvice provider to the world.

Wit / Geography
aqzaﬂum / 8hort Answer Type Questions
v #T 21 @ 25 7% g Iha §1 @ PR swAt & I 3 grim w7 & AT
2 ¥ fifea #1 3x2=6

Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question

carmies 2 marks. 3x2=6

21, W T, 531 el § fER TR W ¢ 2 | 2
How is crop rotation helpful in the mnuwaﬁon of soil ?
}./ﬂmﬁqﬁﬁ%mw%mmmhﬁml ' 2
Describe the causes of pollution of the rivers in India.

y/ﬂﬁ%mﬁmmmmmml - )

Mecntion four main fag:tors of wildlife deterioration.
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QA7 e @ g e uduE § 3T 9 @hEd 7 2

What do you mecan by the conscrvation and management of minerals ?

EROIA @ T R ATR 7 2

[
[#1]

How is solar encrgy produced ?
< I W / Long Answer Type Questions
R¥T WGAT 26 U3 27 T4 Ima #1 36 ® G 0F T IA0 F1 A9 AT & v
4 3% fifra #) 1x4=4

Question Nos. 26 and 27 arc Long Answer Type. Answer any one of them. Each question

cames 4 marks. J x4 =4
26.  IERIETV, FAaETor 3 AR Q@ T R A £ 2 4

What do you mean by liberalisation, privatisation and globalisation ?
ymmawm&nﬁwﬁmﬂ@Wﬁmzﬂmm" | q
Describe the importance of transport and communication in Indian economy.

ATYST WU / Disaster Management

Y IAG WY / Short Answer Type Questions
0¥ WeAT 28 ® 31 7% Y IANT &1 39 @ (T 2091 & 3¢ &1 9}F qvA F fw
2 3% fryifia #1 2x2=4

Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question

carries 2 marks. ’ Ix2«4

ng. MG fFHad TER ®1 el & 2 2

How many types of disaster are there ?
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29 IR fatym & fag qum ety

Suggest measures to control flood.
i S i e & d sim wee S

Differenuate between Earthquake and Tsunami.

31 swfEs wEvE | e ssa e o e s

Describe the role of local administration in emergency management.
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